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Question Id : 92090625812 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Amid consistent rise in deaths of pedestrians and cyclists, Punjab has taken the lead
among the states and UTs to implement the ‘right to walk’ by making it mandatory for all
road owning agencies, including the NHAI, to provide foot path and cycle tracks in all
future expansion of roads and construction of new ones, reports Dipak Dash.

The state government has issued these directions following two court orders after

PILs were filed at Punjab and Haryana HC and another in the Supreme Court.
As per a communication from Punjab chief secretary Vijay Kumar Janjua to Punjab
government’s traffic adviser, Navdeep Asija, “in future all expansions of existing roads and
construction of new roads, a mandatory provision of cycle tracks and footpaths should be
made by all road owning departments and agencies”.

The letter sent last week added that all agencies such as the public works
department, local bodies, NHAl and urban development departments have been
instructed to prepare an action plan to construct footpaths and cycle tracks with a time
frame and budget provision.

TIMES VIEW: The right to walk is a cool idea. Pedestrian walkways and cycle tracks must
be built everywhere. However, we must also audit the existing tracks and examine their
lacunae. For instance, such tracks are regularly invaded by motorbikes. That apart,
pedestrian-only tracks often have huge gaps, which makes walking a dangerous exercise.
In other words, the right to walk must be converted into a proper mission with every angle
taken care of to make it a success.

Sub questions

Question Number : 1 Question Id : 92090625813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Amid consistent a decline in deaths of pedestrians and cyclists,
Punjab has taken the lead among the states and UTs to implement
the ‘right to walk'.

Statement I . The state government has issued these directions following two court
orders aften PILs were filed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is true but Statement Il is incorrect

4) Statement | is false but Statement Il is correct

Options :

920906102001. 1
920906102002. 2
920906102003. 3
920906102004. 4

Question Number : 2 Question Id : 92090625814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the lacunae associated with existing tracks, cycle tracks is:

(1)  motor bikes often use to go in them.
(2) Right to walk is exclusive in such cycle tracks.
(3)  Cycle tracks are clean and properly lighted.

(4) A much accomplished mission.

Options :

920906102005. 1
920906102006. 2
920906102007 3
920906102008. 4

Question Number : 3 Question Id : 92090625815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which department was not instructed to prepare action plan for foot path construction.

(1) NHAI (2) PWD
(3) ubD (4) Rural development department (RDD)
Options :

920906102009. 1
920906102010. 2
920906102011. 3
920906102012. 4

Question Number : 4 Question Id : 92090625816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The synonym of ‘lacunae’ is:

(1) Characteristic (2) Cavity
(3) Prominent portium (4) Speciality
Options :

920906102013. 1
920906102014. 2
920906102015. 3
920906102016. 4

Question Number : 5 Question Id : 92090625817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of PIL is:

(1)  Private Insight Litigation (2) private Interest Litigation
(3)  Public Independent Litigation (4) Public Interest Litigation
Options :

920906102017. 1
920906102018. 2
920906102019. 3
920906102020. 4



Question Id : 92090625812 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Amid consistent rise in deaths of pedestrians and cyclists, Punjab has taken the lead
among the states and UTs to implement the ‘right to walk’ by making it mandatory for all
road owning agencies, including the NHAI, to provide foot path and cycle tracks in all
future expansion of roads and construction of new ones, reports Dipak Dash.

The state government has issued these directions following two court orders after

PILs were filed at Punjab and Haryana HC and another in the Supreme Court.
As per a communication from Punjab chief secretary Vijay Kumar Janjua to Punjab
government’s traffic adviser, Navdeep Asija, “in future all expansions of existing roads and
construction of new roads, a mandatory provision of cycle tracks and footpaths should be
made by all road owning departments and agencies”.

The letter sent last week added that all agencies such as the public works
department, local bodies, NHAl and urban development departments have been
instructed to prepare an action plan to construct footpaths and cycle tracks with a time
frame and budget provision.

TIMES VIEW: The right to walk is a cool idea. Pedestrian walkways and cycle tracks must
be built everywhere. However, we must also audit the existing tracks and examine their
lacunae. For instance, such tracks are regularly invaded by motorbikes. That apart,
pedestrian-only tracks often have huge gaps, which makes walking a dangerous exercise.
In other words, the right to walk must be converted into a proper mission with every angle
taken care of to make it a success.

Sub questions

Question Number : 1 Question Id : 92090625813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Amid consistent a decline in deaths of pedestrians and cyclists,
Punjab has taken the lead among the states and UTs to implement
the ‘right to walk'.

Statement I . The state government has issued these directions following two court
orders aften PILs were filed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is true but Statement Il is incorrect

4) Statement | is false but Statement Il is correct

Options :

920906102001. 1
920906102002. 2
920906102003. 3
920906102004. 4

Question Number : 2 Question Id : 92090625814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the lacunae associated with existing tracks, cycle tracks is:

(1)  motor bikes often use to go in them.
(2) Right to walk is exclusive in such cycle tracks.
(3)  Cycle tracks are clean and properly lighted.

(4) A much accomplished mission.

Options :

920906102005. 1
920906102006. 2
920906102007 3
920906102008. 4

Question Number : 3 Question Id : 92090625815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which department was not instructed to prepare action plan for foot path construction.

(1) NHAI (2) PWD
(3) ubD (4) Rural development department (RDD)
Options :

920906102009. 1
920906102010. 2
920906102011. 3
920906102012. 4

Question Number : 4 Question Id : 92090625816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The synonym of ‘lacunae’ is:

(1) Characteristic (2) Cavity
(3) Prominent portium (4) Speciality
Options :

920906102013. 1
920906102014. 2
920906102015. 3
920906102016. 4

Question Number : 5 Question Id : 92090625817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of PIL is:

(1)  Private Insight Litigation (2) private Interest Litigation
(3)  Public Independent Litigation (4) Public Interest Litigation
Options :

920906102017. 1
920906102018. 2
920906102019. 3
920906102020. 4

Sub-Section Number : 2



Sub-Section Id : 920906829
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 92090625818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sentence:

(1) This in the best film that | am even seen.
(2) This in best film that | have ever seen.
(3) This in the best film that | have never seen.

(4) This in the best film that | even seeing.

Options :

920906102021. 1
920906102022. 2
920906102023. 3
920906102024. 4

Question Number : 6 Question Id : 92090625818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) This in the best film that | am even seen.
(2) This in best film that | have ever seen.
(3) This in the best film that | have never seen.

(4) This in the best film that | even seeing.

Options :

920906102021. 1
920906102022. 2
920906102023. 3
920906102024. 4

Question Number : 7 Question Id : 92090625819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct indirect narration for the following sentence:
The poor examinee said, “O God take pity on me.”

(1)  The poor examinee prayed God to take pity on him.
(2)  The poor examinee, invoking God, implored him to take pity on him.
(3)  The poor examinee exclaimed that God take pity on him.

(4)  The poor examinee asked God to take pity on him.

Options :

920906102025. 1
920906102026. 2
920906102027. 3
920906102028. 4

Question Number : 7 Question Id : 92090625819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct indirect narration for the following sentence:
The poor examinee said, “O God take pity on me.”

(1)  The poor examinee prayed God to take pity on him.
(2)  The poor examinee, invoking God, implored him to take pity on him.
(3)  The poor examinee exclaimed that God take pity on him.

(4)  The poor examinee asked God to take pity on him.

Options :

920906102025. 1
920906102026. 2
920906102027 3
920906102028. 4

Question Number : 8 Question Id : 92090625820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct passive voice form of the following sentence:
Why was she looking at the scenery?

(1)  Why was the scenery looking at by her?

(2)  Why was the scenery being looked at by her?
(3) Why did she look at the scenery?

(4)  Why was the scenery being looked by her?

Options :

920906102029. 1
920906102030. 2
920906102031. 3
920906102032. 4

Question Number : 8 Question Id : 92090625820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct passive voice form of the following sentence:
Why was she looking at the scenery?

(1)  Why was the scenery looking at by her?

(2)  Why was the scenery being looked at by her?
(3) Why did she look at the scenery?

(4)  Why was the scenery being looked by her?

Options :

920906102029. 1
920906102030. 2
920906102031. 3
920906102032. 4

Question Number : 9 Question Id : 92090625821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the option which is opposite in meaning to the following word:

barbaric

(1) primitive (2) civilized

(3) modern (4) uncivilized
Options :

920906102033. 1
920906102034. 2
920906102035. 3
920906102036. 4

Question Number : 9 Question Id : 92090625821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option which is opposite in meaning to the following word:

barbaric

(1 primitive (2) civilized

(3) modern (4) uncivilized
Options :

920906102033. 1
920906102034. 2
920906102035. 3
920906102036. 4

Question Number : 10 Question Id : 92090625822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the part of speech of the underlined word in the following sentence.

Natural thrist is more graciously gratified by water.

(1) verb (2) adjective
(3) noun (4) adverb
Options :

920906102037. 1
920906102038. 2
920906102039. 3



920906102040. 4

Question Number : 10 Question Id : 92090625822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the part of speech of the underlined word in the following sentence.

Matural thrist is more graciously gratified by water.

(1) verb (2) adjective
(3) noun (4) adverb
Options :

920906102037. 1
920906102038. 2
920906102039. 3
920906102040. 4

Question Number : 11 Question Id : 92090625823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of chromosome present in Human?

(1) 40 pairs (2) 24 pairs
(3) 23 pairs (4) 32 pairs
Options :

920906102041. 1
920906102042. 2
920906102043. 3
920906102044. 4

Question Number : 11 Question Id : 92090625823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of chromosome present in Human?

(1) 40 pairs (2) 24 pairs
(3) 23 pairs (4) 32 pairs
Options :

920906102041. 1



920906102042. 2
920906102043. 3
920906102044. 4

Question Number : 12 Question Id : 92090625824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As of 2020, how many languages in India are given the states of classical languages in
constitution of India?

(1) six (2) eight
(3) seven (4) five
Options :

920906102045. 1
920906102046. 2
920906102047. 3
920906102048. 4

Question Number : 12 Question Id : 92090625824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As of 2020, how many languages in India are given the states of classical languages in
constitution of India?

(1) six (2) eight
(3) seven 4) five
Options :

920906102045. 1
920906102046. 2
920906102047. 3
920906102048. 4

Question Number : 13 Question Id : 92090625825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Dadasaheb phalke Award Year  Lifetime achievement, Name of the
awardee
(A) 2017 ()  Rajnikanth
(B) 2018 (1 Asha Parekh
(C) 2019 () Vinod Khanna
(D) 2022 (IV) Amitabh Bachchan

Choose the correct answer from the options given below:

(1) (A-), B)-(), (C)-(I), (D)-(IV)
(2)  (A)-(1), (B)-(IV), (O)-(1). (D)-(1N)
(3) (A=, (B)-(), (C)-(IV), (D)-(1)
4) (A=), (B)-(1), (C)-(I), (D)-(1)

Options :

920906102049. 1
920906102050. 2
920906102051. 3
920906102052. 4

Question Number : 13 Question Id : 92090625825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Dadasaheb phalke Award Year  Lifetime achievement, Name of the
awardee
(A) 2017 ()  Rajnikanth
(B) 2018 (1 Asha Parekh
(C) 2019 () Vinod Khanna
(D) 2022 (IV) Amitabh Bachchan

Choose the correct answer from the options given below:

(1) (A-), B)-(), (C)-(I), (D)-(IV)
(2)  (A)-(1), (B)-(IV), (O)-(1). (D)-(1N)
(3) (A=, (B)-(), (C)-(IV), (D)-(1)
4) (A=), (B)-(1), (C)-(I), (D)-(1)

Options :

920906102049. 1
920906102050. 2
920906102051. 3
920906102052. 4

Question Number : 14 Question Id : 92090625826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . According to the Global Innovation Index, 2021 India has ranked
46" in the Global Innovation Index, 2021.

Statement Il . According to the Global Innovation Index, 2021 the Republic of Korea
Joins the top 5 of the Gl for the first time in 2021.

In light of the above statements, choose the most appropriate answer from the options
given below

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

920906102053. 1
920906102054. 2
920906102055. 3
920906102056. 4

Question Number : 14 Question Id : 92090625826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . According to the Global Innovation Index, 2021 India has ranked
46" in the Global Innovation Index, 2021.

Statement Il . According to the Global Innovation Index, 2021 the Republic of Korea
Joins the top 5 of the Gl for the first time in 2021.

In light of the above statements, choose the most appropriate answer from the options
given below

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

920906102053. 1
920906102054. 2
920906102055. 3
920906102056. 4

Question Number : 15 Question Id : 92090625827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first PIO women to set record of 1397 km (at —50 °C) solo, unsupported track to
South Pole?

§))] Harpreet Chandi (2) Arunima Sinha
(3) Bachendri Pal (4) Junko Tabei
Options :

920906102057. 1
920906102058. 2
920906102059. 3
920906102060. 4



Question Number : 15 Question Id : 92090625827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first PIO women to set record of 1397 km (at —50 °C) solo, unsupported track to
South Pole?

(1) Harpreet Chandi (2) Arunima Sinha
(3) Bachendri Pal (4) Junko Tabei
Options :

920906102057. 1
920906102058. 2
920906102059. 3
920906102060. 4

Question Number : 16 Question Id : 92090625828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify the
correct sequence of numbers in the ascending order.

A 216
B. 793
C. 682
D. 497
E. 385

Choose the correct answer from the options given below

() BCGCAED (2) B.CEAD
3) CB.EAD 4) CAEBD
Options :

920906102061. 1
920906102062. 2
920906102063. 3
920906102064. 4



Question Number : 16 Question Id : 92090625828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify the
correct sequence of numbers in the ascending order.

A 216
B. 793
C. 682
D. 497
E;, 385

Choose the correct answer from the options given below

(y BGCAED (2) B.CEAD
® GBEAD (4 CAEBD
Options :

920906102061. 1
920906102062. 2
920906102063. 3
920906102064. 4

Question Number : 17 Question Id : 92090625829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rama said to mohan “Last Monday | defined the sister of the only son of any grandfather”.
Whom did rama defect?

()] Mother (2) Aunty
(3) Daughter (4) Sister
Options :

920906102065. 1
920906102066. 2
920906102067. 3
920906102068. 4



Question Number : 17 Question Id : 92090625829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rama said to mohan “Last Monday | defined the sister of the only son of any grandfather”.
Whom did rama defect?

(1) Mother (2) Aunty
(3) Daughter (4) Sister
Options :

920906102065. 1
920906102066. 2
920906102067. 3
920906102068. 4

Question Number : 18 Question Id : 92090625830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Preeti, Kirti, Rinki and Swati get one flower each from among Rose, Marigold, Dahlia or
Tulip whose plants are placed in a sequence in the garden. Rinki gets the Dahlia flower.
Marogold plant is adjacent to the Tulip plant. Preeti does not get the flower from the
plant adjacent to the plant whose flower was given to Rinki. Dahlia plant is the only plant

in between the Marigold and Rose plants. Which flower does preeti get?

(1) Rose (2) Marigold
(3) Dahlia (4) Tulip
Options :

920906102069. 1
920906102070. 2
920906102071. 3
920906102072. 4

Question Number : 18 Question Id : 92090625830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Preeti, Kirti, Rinki and Swati get one flower each from among Rose, Marigold, Dahlia or
Tulip whose plants are placed in a sequence in the garden. Rinki gets the Dahlia flower.
Marogold plant is adjacent to the Tulip plant. Preeti does not get the flower from the
plant adjacent to the plant whose flower was given to Rinki. Dahlia plant is the only plant

in between the Marigold and Rose plants. Which flower does preeti get?

(1) Rose (2) Marigold
(3) Dahlia (4) Tulip
Options :

920906102069. 1
920906102070. 2
920906102071. 3
920906102072. 4

Question Number : 19 Question Id : 92090625831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 11, 18, 13, 20, 15, ....... Which one of the following numbers should
come next in the series?

(g & (2) 22
(3) 23 4) 24
Options :

920906102073. 1
920906102074. 2
920906102075. 3
920906102076. 4

Question Number : 19 Question Id : 92090625831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 11, 18, 13, 20, 15, ....... Which one of the following numbers should
come next in the series?

(m 21 (2 22
(3) 23 4) 24
Options :

920906102073. 1



920906102074. 2
920906102075. 3
920906102076. 4

Question Number : 20 Question Id : 92090625832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
In a certain code 'BRIGHT' is written as ‘ATHIGVY' then in the same code

Statement | - 'NORTH' will be written as ‘"MP5SVG' and

Statement I © "WATER' will be written as 'VCS5GS'

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :

920906102077. 1
920906102078. 2
920906102079. 3
920906102080. 4

Question Number : 20 Question Id : 92090625832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
In a certain code 'BRIGHT' is written as ‘ATHIGV' then in the same code

Statement | © 'NORTH' will be written as ‘'MPSVG' and

Statement I . "WATER' will be written as 'VCSGS'

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

920906102077. 1
920906102078. 2
920906102079. 3
920906102080. 4

Question Number : 21 Question Id : 92090625833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mohan invest a certain sum at the rate of Simple Interest 5% per annum. Find the number
of years for which Mohan has to invest the the sum to double his sum:

(1) 25 years (2) 20 years
(3) 18 years (4) 15 years
Options :

920906102081. 1
920906102082. 2
920906102083. 3
920906102084. 4

Question Number : 21 Question Id : 92090625833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mohan invest a certain sum at the rate of Simple Interest 5% per annum. Find the number
of years for which Mohan has to invest the the sum to double his sum:

(1) 25 years (2) 20 years
(3) 18 years (4) 15 years
Options :

920906102081. 1
920906102082. 2
920906102083. 3
920906102084. 4

Question Number : 22 Question Id : 92090625834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu start together from point A to reach to B, with speeds, 5 km/h and 3 km/h
respectively. If Sonu reaches B one hour before Monu, then the distance between A and B

is:

(1)  5km (2) 6km
(3) 6.5 km (4) 7.5km
Options :

920906102085. 1
920906102086. 2
920906102087. 3
920906102088. 4

Question Number : 22 Question Id : 92090625834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu start together from point A to reach to B, with speeds, 5 km/h and 3 km/h
respectively. If Sonu reaches B one hour before Monu, then the distance between A and B
is:

(1) 5 km (2) 6km
(3) 6.5 km (4) 7.5km
Options :

920906102085. 1



920906102086. 2
920906102087. 3
920906102088. 4

Question Number : 23 Question Id : 92090625835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Renu speaks truth in 70% of the cases and Bina in 75% of the cases. The percentage of
ceses they are likely to contradict each other in stating the same fact is:

(M 15% (2) 40%
(3) 7.5% 4) 20%
Options :

920906102089. 1
920906102090. 2
920906102091. 3
920906102092. 4

Question Number : 23 Question Id : 92090625835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Renu speaks truth in 70% of the cases and Bina in 75% of the cases. The percentage of
ceses they are likely to contradict each other in stating the same fact is:

(1 15% (2) 40%
(3) 71.5% 4) 20%
Options :

920906102089. 1
920906102090. 2
920906102091. 3
920906102092. 4

Question Number : 24 Question Id : 92090625836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ifa=130,b =133 and c = 137, There thevalueof a® + b® + -3 abc s

(1) 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906102093. 1
920906102094. 2
920906102095. 3
920906102096. 4

Question Number : 24 Question Id : 92090625836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ifa=130,b =133 and c = 137, There thevalueof a® + b® + -3 abc is

(Mm 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906102093. 1
920906102094. 2
920906102095. 3
920906102096. 4

Question Number : 25 Question Id : 92090625837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following discount option in most beneficial for shop keeper?
(A) Successive discount of 20%, 30% and then pay 10% Service Tax.

(B) Successive discount of 30%, 10% and then pay 10% Service Tax.

(C) Pay Service Tax of 10% first, then successive discount of 20%, 30%.
(D) Pay Service Tax of 10% first, then successive discount of 30%, 20%.

Choose the most appropriate answer from the options given below:

(1) D only (2) A, Bonly
(3) B, C, D only (4) A, C Donly
Options :

920906102097. 1
920906102098. 2
920906102099. 3
920906102100. 4

Question Number : 25 Question Id : 92090625837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following discount option in most beneficial for shop keeper?

(A) Successive discount of 20%, 30% and then pay 10% Service Tax.

(B) Successive discount of 30%, 10% and then pay 10% Service Tax.

(C) Pay Service Tax of 10% first, then successive discount of 20%, 30%.

(D) Pay Service Tax of 10% first, then successive discount of 30%, 20%.

Choose the most appropriate answer from the options given below:

(1) D only (2) A, Bonly
(3) B, C, D only (4) A, C Donly
Options :

920906102097. 1
920906102098. 2
920906102099. 3
920906102100. 4



Part B: Zoology

Section Id : 920906512
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 71
Number of Questions to be attempted : 71

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906830
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090625838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aristotle’s lantern is a masticating apparatus of

1. sea urchins

2. lizards

3. toads

4. octopus
Options :

920906102101. 1
920906102102. 2
920906102103. 3
920906102104. 4

Question Number : 26 Question Id : 92090625838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



thEed e Fufafaa 7 § fFae gauff guin &2

1. o 9Tgl (e-3ife)
2. feuspet

3. dI

4. 3y

Options :

920906102101. 1
920906102102. 2
920906102103. 3
920906102104. 4

Question Number : 27 Question Id : 92090625839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the lac operon, the lac repressor prevents the transcription initiation by binding
to

1. lacinducer

2. lac terminator

3. open reading frame

4. lac operator
Options :

920906102105. 1
920906102106. 2
920906102107. 3
920906102108. 4

Question Number : 27 Question Id : 92090625839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& mEaS (SHTURA) T, dd graaR! (RIR) sie & Ry & Fofafea 73
fHad Ty deF FIb APhdl 872

1. O RS GFoW)

2. P gHUS AR
3. ¥ Y& IhH (ORF)
4. AP YEASD (JATRER)

Options :

920906102105. 1
920906102106. 2
920906102107. 3
920906102108. 4

Question Number : 28 Question Id : 92090625840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—I with List—II :

List-I List-II
(Genetic Disorders) (Genetic Alteration)
(A) | Down syndrome (I) | Gain of X-chromosome
(B) | Klinefelter's syndrome (Il) | Loss of X-chromosome
(C) | Turner's syndrome (Ill) | Trisomy of chromosome 21
(D) | Cri du chat syndrome (IV) | Deletion of small terminal
portion of chromosome 5

Choose the correct answer from the options given below :

1. (A(I); (B)(I; (C-(1); (D)-(IV)

2. (Al (B)=(1): (CH(1); (D)-(IV)

3. (A1) (B)-(IV): (C)=(II); (D)=(IIN)

4. (A-(V): (B)=(1): (C)=(I1); (D)1l
Options :

920906102109. 1



920906102110. 2
920906102111. 3
920906102112. 4

Question Number : 28 Question Id : 92090625840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YA—1 & 1Y G BT A B

-1 Tl
(SRS [AHR) (RIS gRad)

(A) | I3 =S (1) | X-T0RE &1 &1

(B) | APy g () | X-Torg & g1

(C) | &R Rrghr () | TURE-21 B B
(TS 31 sHTeH-21)

(D) | fobrg de Rrgir (IV) | TURGE-5 & &Y WIGHRIS I
CAACGILE

Hia feu e fawedl & 9 TEl SR &1 994 S
(A)=(ln); (B)=(11); (C)=(1); (D)=(1V)
2. (A(l); (B)~1): (C)-(I): (D)~(IV)
3. (A1) (B)(IV); (C)=(11); (D)=(1r)
4. (AR(IV); (B)(1): (C)=(lt); (D)—(l1)

=k

Options :

920906102109. 1
920906102110. 2
920906102111. 3
920906102112. 4

Question Number : 29 Question Id : 92090625841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Phenylketonuria is a type of
1.  X-linked dominant disease
2. X-linked recessive disease
3. autosomal dominant disease
4.

autosomal recessive disease

Options :

920906102113. 1
920906102114. 2
920906102115. 3
920906102116. 4

Question Number : 29 Question Id : 92090625841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GIATS b CI-gAT Uk YHR &1
1. X-Hed e I §

2. X ey UM I 8
3. TR SHIHIEH UHTE AT R
4, T YA SyHTE I §

Options :

920906102113. 1
920906102114. 2
920906102115.3
920906102116. 4

Question Number : 30 Question Id : 92090625842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hypersensitivity involved in blood transfusion and erythroblastosis fetalis is
1.  Type | hypersensitivity
2.  Type |l hypersensitivity
3. Type lll hypersensitivity
4.  Type IV hypersensitivity

Options :

920906102117. 1
920906102118. 2
920906102119. 3
920906102120. 4

Question Number : 30 Question Id : 92090625842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tad MY 3R M IFAB RS & GRIF g ardl sifade<iadr Fafafaa 3 9
D Y UHR & sffcidesiiad 82

1. T34 SffcRideTeiiean
2. TRY I faEdgAedr
3. TRY I SfcHaETedr
4. TRU IV HfrHaeTIed

Options :

920906102117. 1
920906102118. 2
920906102119. 3
920906102120. 4

Question Number : 31 Question Id : 92090625843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement|! : On morphological grounds, scientists speculated that
mitochondria and chloroplasts might be intracellular parasites
that has established symbiotic relationship with the eukaryotic
cells.

Statement |l : Blue-green algae thought to have originated the mitochondria,
and bacteria have originated the chloroplasts.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement || are false
3. Statement | is true but Statement Il is false
4

Statement | is false but Statement |l is true

Options :

920906102121. 1
920906102122. 2
920906102123. 3
920906102124. 4

Question Number : 31 Question Id : 92090625843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR FFERumE !

HYF| : dFI-D! 7 g8 AT T F AHfd F YR W ARSIl ayl
eRd-dad ofa: IS Gelidl g 9hd § e Siussay
G iifes) HifRB137 & WY Yeoiid! ey Rd H o g

Sy |1 : TH TFT 1l & b Hia-gfa Jara gR1 Al aan &1 UigHid g3 aul
Giarsi g1 gidaaai &1 urgHid gaf|
IWIad HYAl & Sfaid d, A9 BU U el § § Jad Sugad IW &I 994
Hiforg ;
1. Y| 3R 11 S TS E
2. Y| SR I EHI T §

3. HYTITE e, AfFA HYF 11 TTad §
4. Y| TTAd B, AP HUF 1 9L B

Options :

920906102121. 1
920906102122. 2
920906102123. 3
920906102124. 4

Question Number : 32 Question Id : 92090625844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The method used to analyse larger DNA fragments ( > 1 Mbp) is
1. polyacrylamide gel electrophoresis
2. Isoelectric focusing
3. agarose gel electrophoresis
4. pulsed-field gel electrophoresis

Options :

920906102125. 1
920906102126. 2
920906102127. 3
920906102128. 4



Question Number : 32 Question Id : 92090625844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁaﬁgﬁﬂﬁﬁaﬁ:{-ﬁlw&ﬁ%msﬁmuﬁa@@am Mbp) &1 fa=asor fan
T &7

1. UldiUfhaAEs oid SadcIbiRiy
2. ZUEeles BB

3. VIR O SOeeTB R

4 UeH-BIE O SAGIHRR

Options :

920906102125. 1
920906102126. 2
920906102127. 3
920906102128. 4

Question Number : 33 Question Id : 92090625845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Evolution of drug-resistant bacteria is an example of
1.  genetic drift
2. natural selection
3. bottleneck effect
4.

founder effect

Options :

920906102129. 1
920906102130. 2
920906102131. 3
920906102132. 4

Question Number : 33 Question Id : 92090625845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3frwey-yfeRieh siiaruysi @1 fawra Rufefad 3 @ feae 3eru 82
1. 3HdRI® syarg
2. UIHlds IR
3. AUy U
4.  HRUE Ydig

Options :

920906102129. 1
920906102130. 2
920906102131. 3
920906102132. 4

Question Number : 34 Question Id : 92090625846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mimicry in which a palatable species mimics a toxic species is called
1. character displacement mimicry
Batesian mimicry

Mullerian mimicry

e Mo

Gregorian mimicry

Options :

920906102133. 1
920906102134. 2
920906102135. 3
920906102136. 4

Question Number : 34 Question Id : 92090625846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3exul fore e wiieis s srare Wizl &1 sFeR® gidl 8, Head &
1. &0 IR SrgRun

2. RO ag

3. Woifvge srgro

4. ImREE srgRm
Options :

920906102133. 1
920906102134. 2
920906102135. 3
920906102136. 4

Question Number : 35 Question Id : 92090625847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An interaction where one species is harmed and the other is unaffected is called

1. commensalism

2. facilitation

3. parasitism

4. amensalism
Options :

920906102137. 1
920906102138. 2
920906102139. 3
920906102140. 4

Question Number : 35 Question Id : 92090625847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. geHifed
2. gl
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Options :

920906102137. 1
920906102138. 2
920906102139. 3
920906102140. 4

Question Number : 36 Question Id : 92090625848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement| : Speciation can occur rapidly or slowly.

Statement |l : Speciation can take place with geographic separation only.

In the light of the above statements, choose the most appropriate answer from the
options given below :

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement |l is correct
Options :

920906102141. 1
920906102142. 2
920906102143. 3
920906102144. 4

Question Number : 36 Question Id : 92090625848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

da sy RUME !
HYT | Sifd Ingad dfiaal F S1yar I4: I 81 9l g
DY |l Sifd Igad dad Hiifcid GYIHUl & FIY g gl 9hdl o

IR Y & s 7, 1 QU U fGwadl & 3 998 Sugad Iw) &1 991
Hiferg

1. @Y | SR 1 2 E E
2. HYF| 3R IIEHEI TAd §
3. &Y | el 8, A S 11 1o 8
4. BYF T ¢, Afh HYA 1| W81 ¢

Options :

920906102141. 1
920906102142. 2
920906102143. 3
920906102144. 4

Question Number : 37 Question Id : 92090625849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In eukaryotes, 5S rRNA is synthesized by
1. RNA polymerase |

2. RNA polymerase ||

3. RNA polymerase ll|

4. RNA polymerase o (sigma) subunit
Options :

920906102145. 1
920906102146. 2
920906102147. 3
920906102148. 4

Question Number : 37 Question Id : 92090625849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

U= Hl 7 5S rRNA $1 YAyl fads gR faar ST &2
1. 3R TH U Ulieny |
2. 3R U UM Il
3. IRTF UM
4. R UA U U o () Su-ussd

Options :

920906102145. 1
920906102146. 2
920906102147. 3
920906102148. 4

Question Number : 38 Question Id : 92090625850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ramachandran plots are used to analyse

1.  primary structure of proteins

2. secondary structure of proteins

3. tertiary structure of proteins

4. quatemary structure of proteins
Options :

920906102149. 1
920906102150. 2
920906102151. 3
920906102152. 4

Question Number : 38 Question Id : 92090625850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906102149. 1
920906102150. 2
920906102151. 3
920906102152. 4

Question Number : 39 Question Id : 92090625851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Active transport is required for
1. positively charged molecules
2. neutral molecules
3. negatively charged molecules
4.

chloride ions

Options :

920906102153. 1
920906102154. 2
920906102155. 3
920906102156. 4

Question Number : 39 Question Id : 92090625851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906102153. 1
920906102154. 2
920906102155. 3
920906102156. 4

Question Number : 40 Question Id : 92090625852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the theme of G-20 Summit currently held in India?

1. One Earth — One Goal

2.  One Earth — One Family — One Future

3. Sustainable Living — Simple Thinking

4. Poverty eradication and 100% literacy
Options :

920906102157. 1
920906102158. 2
920906102159. 3
920906102160. 4

Question Number : 40 Question Id : 92090625852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906102157. 1
920906102158. 2
920906102159. 3
920906102160. 4

Question Number : 41 Question Id : 92090625853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is not present in the smooth muscles?

1. Z-disc

2. H-band

3.  Thick myofilaments
4. Thin myofilaments

Options :

920906102161. 1
920906102162. 2
920906102163. 3
920906102164. 4

Question Number : 41 Question Id : 92090625853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906102161. 1
920906102162. 2
920906102163. 3
920906102164. 4

Question Number : 42 Question Id : 92090625854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pH of cytoplasm and lysosomes are ~ 7 and ~5 respectively. How many fold
H* ion concentration is higher in lysosomes compared to cytoplasm?

. 2
2. 50
3. 20
4. 100
Options :

920906102165. 1
920906102166. 2
920906102167. 3
920906102168. 4

Question Number : 42 Question Id : 92090625854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. 50

3. 20

4. 100
Options :

920906102165. 1
920906102166. 2
920906102167. 3
920906102168. 4

Question Number : 43 Question Id : 92090625855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The amount of air that moves into the lungs with each normal inspiration is known
as

1. inspiratory reserve volume
2. expiratory reserve volume
3. vital capacity
4.

tidal volume

Options :

920906102169. 1
920906102170. 2
920906102171. 3
920906102172. 4

Question Number : 43 Question Id : 92090625855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906102169. 1
920906102170. 2
920906102171. 3
920906102172. 4

Question Number : 44 Question Id : 92090625856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The resting membrane potential of neuronal cell is maintained by

1. higher intracellular K* ion conc. and lower extracellular Na* ion conc.

2. higher extracellular K* ion conc. and lower intracellular Na® ion conc.

3.  higher intracellular K* ion conc. and higher extracellular Na* ion conc.

4. lower intracellular K* ion conc. and higher extracellular Na* ion conc.
Options :

920906102173. 1
920906102174. 2
920906102175. 3
920906102176. 4

Question Number : 44 Question Id : 92090625856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906102173. 1
920906102174. 2
920906102175. 3
920906102176. 4

Question Number : 45 Question Id : 92090625857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which hormone primarily accelerates the reabsorption of Na*® along the distal
convoluted tubule and proximal portion of collecting duct?

1. ADH

2. Renin

3. Aldosterone

4. Oxytocin
Options :

920906102177. 1
920906102178. 2
920906102179. 3
920906102180. 4

Question Number : 45 Question Id : 92090625857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. TSl

2. A

3. U@ERH

4, AR
Options :

920906102177. 1
920906102178. 2
920906102179. 3
920906102180. 4

Question Number : 46 Question Id : 92090625858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which statistical method is best suitable for testing the goodness of fit between an
observed and expected distribution?

1. Analysis of variance (ANOVA)

2. Chi-sguare test

3. F-Test

4. Kruskal-Wallis test
Options :

920906102181. 1
920906102182. 2
920906102183. 3
920906102184. 4

Question Number : 46 Question Id : 92090625858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906102181. 1
920906102182. 2
920906102183. 3
920906102184. 4

Question Number : 47 Question Id : 92090625859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Nieuwkoop centre is formed by the accumulation of

1. p-catenin

2. Smad 2/4

3. Adctivin

4. TGF-p
Options :

920906102185. 1
920906102186. 2
920906102187. 3
920906102188. 4

Question Number : 47 Question Id : 92090625859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. p-defH

2. W34

3. Ufdefe

4. TGF-p
Options :

920906102185. 1
920906102186. 2
920906102187. 3
920906102188. 4

Question Number : 48 Question Id : 92090625860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The primitive streak is derived from

1.  anterior epiblast cells

2.  hypoblast cells

3. Hensen's node

4. blastocoel
Options :

920906102189. 1
920906102190. 2
920906102191. 3
920906102192. 4

Question Number : 48 Question Id : 92090625860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906102189. 1
920906102190. 2
920906102191. 3
920906102192. 4

Question Number : 49 Question Id : 92090625861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An anapsid skull is a characteristic of

1. lizards

2. crocodiles

3. alligators

4. turtles
Options :

920906102193. 1
920906102194. 2
920906102195. 3
920906102196. 4

Question Number : 49 Question Id : 92090625861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906102193. 1
920906102194. 2
920906102195. 3
920906102196. 4

Question Number : 50 Question Id : 92090625862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fish that spends its adult life in seawater but migrates to the freshwater for
spawning is

1. catadromous

2. anadromous

3. Limnodromus

4. oceanodromous
Options :

920906102197. 1
920906102198. 2
920906102199. 3
920906102200. 4

Question Number : 50 Question Id : 92090625862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906102197. 1
920906102198. 2
920906102199. 3
920906102200. 4

Question Number : 51 Question Id : 92090625863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Free swimming ciliated larva of human liver fluke is
1.  miracidium
2. sporocyst

3. cercaria

4. metacercaria

Options :

920906102201. 1
920906102202. 2
920906102203. 3
920906102204. 4

Question Number : 51 Question Id : 92090625863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906102201. 1
920906102202. 2
920906102203. 3
920906102204. 4

Question Number : 52 Question Id : 92090625864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the events of virus replication in a host cell :

A. Attachment

B. Packing of viral genome with structural proteins

C. Release of genomic material in the host cytoplasm
D. Synthesis of viral genes and proteins

Choose the correct answer from the options given below :

= ABGD

2. ACDB

3. B,ACD

4. C,D,B. A
Options :

920906102205. 1
920906102206. 2
920906102207. 3
920906102208. 4

Question Number : 52 Question Id : 92090625864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A,B,C,D

2. A CD,B

3. BACD

4 C,D,B,A
Options :

920906102205. 1
920906102206. 2
920906102207. 3
920906102208. 4

Question Number : 53 Question Id : 92090625865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following enzymes involved in J -oxidation pathway of fatty acids in
sequence :

A. Aetyl-CoA-acetyltransferase
Enoyl CoA hydratase
Acyl-CoA synthetase
Acyl-CoA dehydrogenase

m Dy |

B -hydroxyacyl CoA dehydrogenase

Choose the correct answer from the options given below :
1. C,B,D,EA

B,C,D AE

B,D,C A E

oW N

C,D,B,E A



Options :

920906102209. 1
920906102210. 2
920906102211. 3
920906102212. 4

Question Number : 53 Question Id : 92090625865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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i feu 0 fasedl | 9 Tl 3T &1 994 S :
1. C,B,D.E A

2. B,CDAE

3. B.D.CAE

4. C,D,B,E A
Options :

9209061022009. 1
920906102210. 2
920906102211. 3
920906102212. 4

Question Number : 54 Question Id : 92090625866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps involved in phagocytosis of bacterium by a

macrophage :

A. Phagosome fuses with lysosome

B. Bacterium is ingested, forming a phagosome

C. Bacterium is killed and then digested by lysosomal enzymes

D. Bacterium becomes attached to membrane evaginations called pseudopodia

Choose the correct answer from the options given below :

i. A, C,D. B

2. D,BAC

3 DGCAB

4. B,C,A.D
Options :

920906102213. 1
920906102214. 2
920906102215. 3
920906102216. 4

Question Number : 54 Question Id : 92090625866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1., ALC, DB
2. D,BAC
3. D,CAB
4. B,C,AD

Options :



920906102213. 1
920906102214. 2
920906102215. 3
920906102216. 4

Question Number : 55 Question Id : 92090625867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct sequence of metamorphosis in urochordates is :

A.
B.

C.
D.

A non-feeding free swimming larva

The outer epidermis, during metamorphosis shrinks and the notochord along
with tail structure regresses

The larva settles to a firm substrate by attaching with adhesive papilla
Reorganisation of internal structure by 180° rotation

Choose the correct answer from the options given below :

1. C,A,B,D

2. ACBD

3. ABCD

4. D,AB.C
Options :

920906102217. 1
920906102218. 2
920906102219. 3
920906102220. 4

Question Number : 55 Question Id : 92090625867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. C,AB,D

2. ACBD

3. ABCD

4. D,ABC
Options :

920906102217. 1
920906102218. 2
920906102219. 3
920906102220. 4

Question Number : 56 Question Id : 92090625868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During oogenesis, the following events occur in sequence :
A. Primary oocyte undergoes meiotic division

B. Secondary oocyte remains arrested until fertilization
C. Oogonia undergo mitotic divisions

D. Primordial germ cells undergo mitosis

Choose the correct answer from the options given below :

1. D.C, A B
2. C,AB,D
3. C,DAB
4 ABC,D

Options :



920906102221. 1
920906102222. 2
920906102223 3
920906102224. 4

Question Number : 56 Question Id : 92090625868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. D,C,AB

2. C,ABD

3. C,D.AB

4. A,BC,D
Options :

920906102221. 1
920906102222. 2
920906102223. 3
920906102224. 4

Question Number : 57 Question Id : 92090625869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sequence of events leading to evolution of life is :
Protocell formation
Formation of polymers from the monomers

Self-replicating RNA

A

B

C. Origin of single-celled organisms

D

E. Abiotic synthesis of organic monomers i.e., amino acids and nitrogen base

Choose the correct answer from the options given below :

1. E,D,A,B,C

2. E ADBC

3. EBADC

4 E,B,DAC
Options :

920906102225. 1
920906102226. 2
920906102227. 3
920906102228. 4

Question Number : 57 Question Id : 92090625869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. E,D,A,B,C

2. EADB.LC

3. EBADC

4. E,B,DAC
Options :

920906102225. 1
920906102226. 2
920906102227. 3
920906102228. 4

Question Number : 58 Question Id : 92090625870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sequential events of fertilization in sea urchin include :
Contact and recognition of gamete counterparts
Sperm entry in polysaccharide and glycoprotein envelop around egg

A

B

C. Fusion of genetic material of two gametes

D. Activation of egg metabolism to initiate mitotic division
E

Block to the entry of additional sperm
Choose the correct answer from the options given below :

1. A,B,E.C,D
2. ABCED
3. B.,ADCE
4. AEB,CD

Options :

920906102229. 1

920906102230. 2

920906102231. 3
920906102232. 4

Question Number : 58 Question Id : 92090625870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A,B,E,C,D

2 ABCED

3. B,ADCE

4. A EBCD
Options :

920906102229. 1
920906102230. 2
920906102231. 3
920906102232. 4

Question Number : 59 Question Id : 92090625871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Parental care increases the chances of offspring survival but
requires large energy expenditure.

Statement |l : In amphibians, females of the genus Pipa carry eggs on their
head in cephalic hooks.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true
Options :

920906102233. 1
920906102234. 2
920906102235. 3
920906102236. 4

Question Number : 59 Question Id : 92090625871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



920906102233. 1
920906102234. 2
920906102235. 3
920906102236. 4

Question Number : 60 Question Id : 92090625872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Paedogenesis is the retention of larval characters in the adults.
Statement |l : Neoteny refers to the accelerated gonadal maturation in the
larvae.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement |l are false

3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true
Options :

920906102237. 1
920906102238. 2
920906102239. 3
920906102240. 4

Question Number : 60 Question Id : 92090625872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906102237. 1
920906102238. 2
920906102239. 3
920906102240. 4

Question Number : 61 Question Id : 92090625873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement| : Javan Rhino is a vulnerable species.
Statementll : One-homed Rhino is a vulnerable species.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true
Options :

920906102241. 1
920906102242. 2
920906102243. 3
920906102244. 4



Question Number : 61 Question Id : 92090625873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R syafRRumE
HY| ; ol T U IRRIE oiIfd 8 |
DY || UHA-471 31 U SRRIET wfa g1

JRFd FYT & AP # 9 U T e § ¥ "dl I9% #1999

1. ISR ISTIAE
2. YR S T
3. &Y I g, e FYF 1l ST 8

4. FUT|HTIE, AP FUT 11 TAE

Options :

920906102241. 1
920906102242. 2
920906102243. 3
920906102244. 4

Question Number : 62 Question Id : 92090625874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Integumentary systems like skin, hair provide sensory

information and regulate body temperature.

Statement |l : Integumentary systems store energy reserves.

In the light of the above statements, choose the correct answer from the options
given below :

1:

B W N

Options :

Both Statement | and Statement Il are true
Both Statement | and Statement Il are false
Statement | is true but Statement |l is false

Statement | is false but Statement Il is true

920906102245. 1
920906102246. 2
920906102247. 3
920906102248. 4

Question Number : 62 Question Id : 92090625874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

EICAEZIE Akl i
HY | HHERCN 7 SR T, &, Had] P YU d € SR TRR & dargdH

&1 o+ Frafia s 8

FYF || HHEU o Sl & Fgg BT HSRU Fdl 8|
JWad FYET & Mae H A9 o U A § 4 WEl I &1 9uF

Hifore :
1.
i
3.

4,

Options :

FYF AR NS TI &
YA | 3R 11 ST 3y &
HUF | T g, Afb HUF 1l 3T B

HUF | 3T g, Albd HUT 1 T &

920906102245. 1



920906102246. 2
920906102247. 3
920906102248. 4

Question Number : 63 Question Id : 92090625875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement| :  Myofibrils are not attached to the plasma membrane.

Statementll :  Myofibrils are attached to the plasma membrane at both ends
of a muscle fibre.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement || are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4.

Statement | is false but Statement Il is true

Options :

920906102249. 1
920906102250. 2
920906102251. 3
920906102252. 4

Question Number : 63 Question Id : 92090625875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R HyREmE
FYF | ;. URdgP e e ¥ Had 8! g1
S I Uiiige e B J ULl BiEeR & aFi oRi 3 Jau gid g

SWRITd Y & A H " G W e § 9 @8l W% & g9
CAIELE

1. ISR IAE
2. HYF ISR GHI I B
3. FYT I TU g, AP FYF Il 3T B

4, DY TG, APT DY T B

Options :

920906102249. 1
920906102250. 2
920906102251. 3
920906102252. 4

Question Number : 64 Question Id : 92090625876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement| : Genetic code is degenerate.
Statement |l : Genetic code resists single-base substitution mutations.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true
Options :

920906102253. 1
920906102254. 2
920906102255. 3



920906102256. 4

Question Number : 64 Question Id : 92090625876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR AP RUME -

T | HIERIS Fe IUBIRG B

DU || AR He Uha-&RE Ui Idad- &1 Uil Hdl g

IWRIF dYAT & e H A ffu U e § 9 9§l IO &1 g9
HifoTg ;

1. SYFIRISH I G
2. ®YF ISR GHT T ©
3. BYF 1A g, AP Y 11 3T B

4, BYI TG APTIFYT I TA S

Options :

920906102253. 1
920906102254. 2
920906102255. 3
920906102256. 4

Question Number : 65 Question Id : 92090625877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Loss of immune function resulting from exposure to external
agents such as infection is known as primary immunodeficiency.

Statement |l : Immunodeficiency due to developmental or inherited genetic
defect in the immune system is called a secondary
immunodeficiency.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true
Options :

920906102257. 1
920906102258. 2
920906102259. 3
920906102260. 4

Question Number : 65 Question Id : 92090625877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R sy g -

DY Wﬁ;ﬁﬁﬁfﬁw#ﬁﬁaﬁﬁmﬁ?mmaﬁmmmﬁim
FHEd Bl

YA 11 UlfdRam dF # fabrig srudn dfd diRIe 3 & HRor g+ gt
WioR &l &1 fadiad UiaRamg-d $8d g |

IWRed Syl & e § 9 U v (el # 9 "Wel I &1 g4
Piferu :

1. FYIRIGSH IS
2. HYFI3MR I SAEI AT ©
3. $YF |9 g, Wi HYF 11 A §

4, HYT| UG g, Al BYA 11 T §



Options :

920906102257. 1
920906102258. 2
920906102259. 3
920906102260. 4

Question Number : 66 Question Id : 92090625878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Recombinant vaccine for hepatitis B is the first synthetic
vaccine for public use.

Statementll : Hepatitis B vaccine is a DNA vaccine.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true
Options :

920906102261. 1
920906102262. 2
920906102263. 3
920906102264. 4

Question Number : 66 Question Id : 92090625878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g HYRuMUE:
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&1 G dai 2|

HY 11 : gersfey o 3iF e S v v a8

JRed FYET & MEe H A9 Ru U e § ¥ 98 I &1 9

1. SSRGS 9§
2. @Y 3R 11 T G &
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4 HYITIE AFTIFYT TR

Options :

920906102261. 1
920906102262. 2
920906102263. 3
920906102264. 4

Question Number : 67 Question Id : 92090625879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which statements about MHC molecules are correct?

A. Class | MHC molecules are composed of two non-covalently associated
glycoproteins, a and B chains.

B. MHC genes are polymorphic.

o

Class | MHC molecules are expressed on most nucleated cells.

D. Class Il MHC molecules are restricted to B-cells, macrophage and dendritic
cells.

Choose the correct answer from the options given below :
1. B, CandD only

A, B and D only

A, C and D only

Ll A

A, B and C only

Options :



920906102265. 1
920906102266. 2
920906102267. 3
920906102268. 4

Question Number : 67 Question Id : 92090625879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad 5 4 MHC Sujsil § Haftd 98t du=l &f Sifed -

A. @ | MHC /U] &1 SHgHdiehd: ¥ SOIfeld RS IUEH, o AR p 4&d 4
CER

B. MHC SiiH ag&dig gl
C. a1 MHC 3] @rHTT It Sizfora BifRram1si # siftyegad g1d g |
D. @ I MHC 3fU] B-FIABI3M, FEHFIY] 3R gRSIHdS BB dP

i g1
i feu T faseul A @ WEt IR &1 90 B ;
1. @&ddB,C #RD
2. ®dUA,B 3RD
3. $dAA C dRD
4. &dAAAB IRC
Options :

920906102265. 1
920906102266. 2
920906102267. 3
920906102268. 4

Question Number : 68 Question Id : 92090625880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Malignant tumor cells have the following properties :
Unregulated cell division
Inhibition of angiogenesis

A

B

C. Resistance to apoptosis
D. Cellular immortality
E

Ability to metastasis

Choose the correct answer from the options given below :

1. A, B, CandD only

2. A B,DandE only

3. A C,DandE only

4. B,C,DandE only
Options :

920906102269. 1
920906102270. 2
920906102271. 3
920906102272. 4

Question Number : 68 Question Id : 92090625880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafeiEa # 9 gdu srda HIRrST1si & Ui 6T ugag
A. AR SRS [AyeH
B. UAfoMISHRY &1 sfaied
C. QIR &1 ufcRiy
D. HINADIY YA
E. SIIREUCRY (HeRS ) &t &
= fau e faseul # @ HEl IR &1 949 S ;
1. &ddA,B,C 3RD
2. $ddA,B,D IRE
3. $ddA C,D JRE
4. &ddB,C,D 3RE

Options :

920906102269. 1
920906102270. 2
920906102271. 3
920906102272. 4

Question Number : 69 Question Id : 92090625881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Echinoderm characteristics include :

A. calcareous endoskeleton in the form of ossicles derived from mesodermal
tissue

B. adults have pentaradial symmetry and larvae with bilateral symmetry

C. water vascular system composed of water filled canals used in locomotion,
attachment and feeding

D. incomplete digestive system and schizocoelous
Choose the correct answer from the options given below :

1. A, BandConly

2. A B,CandD only

3. A BandDonly

4. B, Cand D only
Options :

920906102273. 1
920906102274. 2
920906102275. 3
920906102276. 4

Question Number : 69 Question Id : 92090625881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafed # @ tessH & qam ug=iu -
A, DicHHl 3id: T ol BT & TY T ALGARR Hdd J Jad gidl g
B. qu% § YaANIg Al SR aRar # fuifdfe wmfafa &1 el

C. d Hdgdl o3 url ¥ +{l g3 Afcdrell &1 971 grar € a1 Iudh 9,
Hedd! 3R U § gt gl

D. 3mquf urad &7 iR divfipan
19 feu U fasedl § O 981 3w &1 994 Sifou

1. @HddA, BaRC
2. ®ddA, B, C 3RD
3. ®ddA,B 3RD

4. &ddB,C 3RD

Options :

920906102273. 1
920906102274. 2
920906102275. 3
920906102276. 4

Question Number : 70 Question Id : 92090625882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are related to steroidal hormones?
A. Cholesterol is the precursor of steroidal hormones.
B. Steroidal hormones include oxytocin and prolactin.
C. Steroidal hormones cannot cross the cell membrane without any receptor.
D. StAR protein helps in transport of cholesterol from outer to inner
mitochondrial membrane for steroid biosynthesis.
Choose the correct answer from the options given below :
1. AandB only
2. AandC only
3. AandD only
4.

B and C only

Options :

920906102277. 1
920906102278. 2
920906102279. 3
920906102280. 4

Question Number : 70 Question Id : 92090625882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WG giafF ¥ deftd Sy Bifed

A PIOCTA €S GHMI BT 3gd 8|

B. SIS 3R Uielfde ®R1gS g 8|

C. RGeS g wireH freeht &1 fam faredt a1el & uR =8t & gl

D. WRIGS old YWY & [T StAR UIEH Picierd &l GABIUGT B dledl

AR fareet § e Sl g1
1 AU 70 fashedl # ¥ |l IR P 94 Hifely ;
1. HddARB
2. PHIAAIMR C
3. @ddA 3RD
4. &ddB RC
Options :

920906102277. 1
920906102278. 2
920906102279. 3
920906102280. 4

Question Number : 71 Question Id : 92090625883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For DNA replication, which of the following statements are true?
A. Circular chromosome of E.coli replicates through multiple origin of replication.

B. In each linear chromosome of eukaryote, DNA replication begins when
replication bubbles form at single site along giant DNA molecule.

C. In each linear chromosome of eukaryote, DNA replication begins when
replication bubbles form at multiple sites along giant DNA molecule.

D. Incircular chromosome of E.coli, one origin of replication is present.
Choose the correct answer from the options given below :

1. Aand C only

2. BandD only

3. CandDonly

4. AandB only

Options :

920906102281. 1
920906102282. 2
920906102283. 3
920906102284. 4

Question Number : 71 Question Id : 92090625883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



31 v v ufdddiga ¥ Safta 9 SYF Bifed

A & diard & JUG UGF 98 Swd Uiapiaad 3 ufddid &1 g

B. TMd=®! HNRAR) & Udd Ma® TUgA # 31 U9 U &1 uidefaga da
mu%@m%ﬁumwwﬁﬁmqﬂﬁwwm
A2

C. HHHI=H! (GHRAR) F ydd dEd U J S T4 U ufdeiagd 3Ry a9
Bid1 8 99 Ui fag gagd U a9 1 U U U] 1 3% RIFl )R §1d ¢

D. & Piong & quid TOREA H U I Uiadfad gial ¢
A1 fau T fashedl § § WEl IR 61 9 ST :

1. FAAAMRC

2. ®dABSR D

3. $9dAC RD

4. SHAAA IRB
Options :

920906102281. 1
920906102282. 2
920906102283. 3
920906102284. 4

Question Number : 72 Question Id : 92090625884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?

A. In complete dominance of one allele, heterozygous phenotype is same as
that of homozygous dominant.

B. Incodominance, both phenotypes are expressed in homozygotes.
C. Inmultiple allele cases, genes have more than two alleles in the population.
D. In pleiotropy, multiple gene affects single phenotypic character.

Choose the correct answer from the options given below :
1. A,B, Cand D only
2. B, Cand D only
3. AandC only
4. Aonly

Options :

920906102285. 1
920906102286. 2
920906102287. 3
920906102288. 4

Question Number : 72 Question Id : 92090625884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frofafaa 7 9 9 Sy ugau

A. U Udid &1 gof uuiadn & fasmgrslt wiFrersy aagrash quf gyifddl &
YA BT 8|

B. HeWMIddl & SHI UPR & BT THHS | HiHogad gid o
C. agfadeuar it wufte 7 ofi<i #t &1 ¥ +1fie el grft €1
D. SguuIiddl & agfdsed! 9 U WISy Wefvr &I wHIfdd &l g
F4 fau e fawed § 9 el IR &1 I e ;

1. AB, C3RD

2. &ddB, C#R D

3. HAAAMRC
4. HAAA
Options :

920906102285. 1
920906102286. 2
920906102287. 3
920906102288. 4

Question Number : 73 Question Id : 92090625885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are desired characteristics of birds?
Lacking urinary bladder
Females having one ovary

A
B
C. Afew living birds have teeth
D. Colour vision

E

Endothermic
Choose the correct answer from the options given below :

1. A,B,C,DandE only
2. A, ,BandEonly
3. A, B,DandE only
4. A ,B,CandEonly

Options :

920906102289. 1

920906102290. 2

920906102291. 3
920906102292. 4

Question Number : 73 Question Id : 92090625885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrofafed 7 & uféri & difed aamn ug=rd .
A. T &I 3HTE
B. HIGIH U ST
C. pooifdduRmidciagn g
D. duizf®
E. 3=
I fou o fasedt 7 @ U6t IR &1 90 Hifed ;
1. ABCDS3NRE
2. HAdA BIRE
3. ®ddA, B D3RE
4. SddA, B, C3IRE

Options :

920906102289. 1
920906102290. 2
920906102291. 3
920906102292. 4

Question Number : 74 Question Id : 92090625886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are related to nutrition?

A. Parietal cells in the stomach secrete pepsinogen.

B. Exocrine cells in the pancreas secrete digestive enzyme.

C. Liver stores glucose in the form of starch.

D. Lysozyme is present in the saliva which kills microorganisms.

Choose the correct answer from the options given below :

1. A,B,C,Donly

2. A, B,Donly

3. C,Donly

4. B,Donly
Options :

920906102293. 1
920906102294. 2
920906102295. 3
920906102296. 4

Question Number : 74 Question Id : 92090625886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafefaa & 9 g 3 H&ftd sy= sifed
A, D S FRi BIRISTE AR 1 TG0 Bl ¢ |
B. SN Pl &fe: Urdl HIRABIY Ur- THAIZHI b1 FTG0 Bl ¢ |
C. TPHdgd ®l ¥ & ¥4 H HeIRd ddl 8|
D. ©R ¥ ASUINISH Ul gidl & Sl Siiam[aii &1 ¥ &l &
A fau u faspedl # @ UEl Syl 9rd WaieH fdd ey &1 gfu
1. AB,C 3RD
2. $9UA B R D
3. $IACIHRD
4. &dAB D

Options :



920906102293. 1
920906102294. 2
920906102295. 3
920906102296. 4

Question Number : 75 Question Id : 92090625887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is recently added to the World UNESCO- Heritage list?

1. Dholavira, Gujarat

2. Rani Ki Vav, Gujarat

3. Hill Fort, Rajasthan

4. Red Fort, New Delhi
Options :

920906102297. 1
920906102298. 2
920906102299. 3
920906102300. 4

Question Number : 75 Question Id : 92090625887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g # fae! adnF Ay TAvn!-ueRrTd et 6 i fosar man g2

1. AR, TR

2. YA &9, e

3. RawE aewm

4. od foan, 73 feeeh
Options :

920906102297. 1
920906102298. 2
920906102299. 3
920906102300. 4



Question Number : 76 Question Id : 92090625888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—| with List—Il :

List- List—II
(Complement protein) (Complement pathway)
(A) | C1 (I} | Lectin pathway
(B) | C4 (i) | Classical pathway
(C) | Factor B (1) | Alternative pathway
(D) | MASP-1 (IV) | Classical and lectin pathway

Choose the correct answer from the options given below :

1. (AI); B (CHIV); (D))

2. (A-(V): B)-(1); (C)-(N); (D)~(1I
3. (A (B-(IV); (C)=(lll); (D)~(1)
4. (A-(); (B)=(II); (C)-(V): (D))
Options :

920906102301. 1
920906102302. 2
920906102303. 3
920906102304. 4

Question Number : 76 Question Id : 92090625888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 -1l
P UICH R Ty
(A) [€t1(C1) () | afdeaay
(B) | 4t 4 (ca) (1) | Frufafdd oy
(C) | #R® &t (e B) () | dfcts gy
(D) |TH T Eg Ul - 1 (MASP-1) (V) | RRufaffd SR dfde gy

e fau 1 faseai # T gt 39X &1 999 Pifold
1. (A=(I); (B)=(I); (C)-(IV); (D))

2. (AF(V). (B)=(1): (Ch=(l); (D)1

3. (A(I); (B(IV); (C)=(11); (D))

4. (A(I); (BN (CH(IV): (D)D)
Options :

920906102301. 1
920906102302. 2
920906102303. 3
920906102304. 4

Question Number : 77 Question Id : 92090625889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—] with List-—II :

List-I List-lI
(Proteins) (Function)
(A) | BCI-2 (I) | Growth factor receptor
(B) | Bax (Il) | Suppressor of apoptosis
(C) | Rb (1) | Inducer of apoptosis
(D) | EGFR (IV) | Suppressor of  retino-
blastoma

Choose the correct answer from the options given below :
(A)=(ll); B)—(Il1); (C)~(IV); (D)1)
2. (A (B)~(IV); (C)(I1); (D))
3. (A(); (B){II); (C)-(IV); (D)l
(A)y=(I); (BIH1): (C)HIV); (D))

ey

iz

Options :

920906102305. 1
920906102306. 2
920906102307 3
920906102308. 4

Question Number : 77 Question Id : 92090625889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YA—I| & 1Y Gl —1l BT A Difer .

gl gt -l
PIGiE] Gau]
(A) | BCI-2 (1) | 9fs PRS Ul
(B) | Bax () | vopife &1 Pys
(C) | Rb () | uOREIREg &1 fatRs
(D) | EGFR (IV) | TEHTsaRETH &1 RIS

419 feu e faw el § 9 TEl SR &1 99 SIS
1. (A=) (B)=(lll): (C)~(IV); (D)~(1)
2. (A)(I); BY(IV); (C)=(11); (D))
3. (A(N): (B)(IN): (CH(IV); (D))
4. (A=(I); B)=(1): (CIHIV): (D)=l

Options :

920906102305. 1
920906102306. 2
920906102307. 3
920906102308. 4

Question Number : 78 Question Id : 92090625890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=Il with List=Il :

List—I List—II
(Period) (Event)
(A) | Carboniferous period (1) | Origin of reptiles
(B) | Quaternary period (I1) | Origin of genus ‘Homo'
(C) | Permian period (l11) | Origin of present-day insects
(D) | Devanian period (IV) | Origin of tetrapods

Choose the correct answer from the options given below :

1. (A(); (BY); (C)(IN); (D)-(IV)

2. (A-(IV): (B)=(1); (C)-(IN); (D)~(I)
3. (A)=(); (B)~(I): (C)-(IV): (D)~()
4. (Ay(1): (B)=(IN): (CH(IV); (D)-(I1)
Options :

920906102309. 1
920906102310. 2
920906102311. 3
920906102312. 4

Question Number : 78 Question Id : 92090625890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-l -
(rafirdiias) (€e)
(A) | PrEHIHE FTa () | =dgu =t Iaf
(B) | HIETH BTl (1) | gF Sie B Iam
(C) | RftrE Fra () | GeHH Ble-Udi B Jafd
(D) | fEdifaa #ra (IV) | aquici @t 3t

19 feu e fawedl # 9 |et IR &1 9G4 B ;
1. (A)(); (B){II); (C)-(IH1); (D)(IV)
(AW=(IV); (B)=(1): (C)=(1lN); (D)—(1)
(A)=(I1); (B)=(11); (C)=(IV); (D)=(1)
(A)=(1): (B)=(III); (C)~(IV); (D)~(Il)

S

Options :

920906102309. 1
920906102310. 2
920906102311. 3
920906102312. 4

Question Number : 79 Question Id : 92090625891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—Il with List=II :

List- List=lI
(Enzyme Class) (Type of reaction catalysis)

(A) | Oxidoreductases (I) | Cleavage of C-C, C-0O,
C-N or other bonds by
elimination

(B) | Transferases (Il) | Transfer of electrons
(hydride ions or H atoms)

(C) | Lyases (IIl) | Group transfer reaction

(D) | Ligases (IV) | Formation of C-C, C-5,

C-O0 and C-N bonds by
condensation reaction

Choose the correct answer from the options given below :

1. (A=) (BH1); (C)(1); (D)-(IV)

2. (A)(I); (B)=1lN): (C)~(II); (D}-(IV)
3. (A(I); B)(II); (CH-(IV); (D))
4. (A1), B)=(lIt); (C)(1); (D}-(IV)
Options :

920906102313. 1
920906102314. 2
920906102315. 3
920906102316. 4

Question Number : 79 Question Id : 92090625891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- -l
(UsrgH ari) ([N HffHT &1 UBHR)

(A) | sffgigiNgaeiay (I) | fmpT¥4 & gR1 C—C, C-0,
C—N T1 3 §4 &1 fageq

(B) | SIBIEH () |3ARMA &1 WHRU (BEIES
IO 3{YdT H TRHTY))

(C) | aeEd () | T AR i

(D) | AT (IV) | de=4 sififeean gRT C-C,
C-S, C-O YUl C-N §¢i &1 §1

i feu U famedl §f 9 wel SR &1 994 B
(A=(I); (BY(1); (C)(1); (D)}-(1V)
2. (A(1); (B)=(IIN); (C)=(I); (D)}~(IV)
3. (AR(I); (B)-(I): (C}-(IV); (D))
4. (AN (By=(l); (Cy=(1); (D)}(1V)

-

Options :

920906102313. 1
920906102314. 2
920906102315. 3
920906102316. 4

Question Number : 80 Question Id : 92090625892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—Il with List=II :

List- List-II
(Adaptation) (Animal)
(A) | Echolocation (I) | Canyon tree frog
(B) | Cryptic coloration (1) | Poison dart frog
(C) | Aposematism (1) | Skunks
(D) | Chemical defences (IV) | Bats

Choose the correct answer from the options given below :

1. (A-(V); (B)=(1): (C)=(1); (D)=l

2. (A(); (B)-(V): (C)-(I); (D)~(ll)
3. (A-(V); (B)=(1); (C)=(lll); (D)~(II)
4. (A-(V): B)=(1): (C)-(); (D))
Options :

920906102317. 1
920906102318. 2
920906102319. 3
920906102320. 4

Question Number : 80 Question Id : 92090625892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- -1l
(SIIRT) CISER)
(A) | zBIATA (1) | &ar & s
(B) | TMues I5 () | ofger STE figd
(C) | SHTES ToH () | whs
(D) | IrHRIE FRaf (V) | IS

i feu e fawed! # 9 Het IR &1 99 B ;
1. (A-(V); (B)-(II): (C)~(1): (D)~(1)
(A(1); (B}=(IV); (C)=(1l1); (D)-(I1)
(A)=(IV); (B)=(1); (C)=(lI); (D)=(IN)
(A)-(IV); (B)~(1); (C)=(II); (D)=(1l1)

L

Options :

920906102317. 1
920906102318. 2
920906102319. 3
920906102320. 4

Question Number : 81 Question Id : 92090625893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the volumes in descending order :

A. 1000 mL
B. 2dL

C. 2000 pL

D. 3mL

E. 10000 nL

Choose the correct answer from the options given below :
1. 'Be.AEDR
2 GBDEA
3. B,ADCE
4. A,BD,CE

Options :

920906102321. 1
920906102322. 2
920906102323. 3
920906102324. 4

Question Number : 81 Question Id : 92090625893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fau U 3maHl # fERiel HH | sHafRyd Hiferd ;

A. 1000 fa. <t
B. 23.W

C. 2000 HISHIHl,
D. 3 faeh

E. 10000 A

4 f3u e fasedi # 9§ 999 Uy IR &1 99 B ;
1. B,C,AE,D
2. C,B,D,EA
3. B,AD,CE
4. AB,D,CE

Options :

920906102321. 1
920906102322. 2
920906102323. 3
920906102324. 4

Question Number : 82 Question Id : 92090625894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List-II :

List— List=II
(Antibiotic) (Mode of action)
(A) | Tetracycline (I) | Prevents initiation of amino-

acyl tRNA binding

(B) | Fusidic acid (Il) | Prevents ternany complex
binding to ribosome

(C) | Macrolides (Ill) | Prevents exit of polypeptide
from ribosome

(D) | Kasugamycin (IV) | Prevents EF-G dissociation

Choose the correct answer from the options given below :

1. (A (B(IV); (CH(1): (D))

2. (Al (BI-(IV); (C)~(ill); (D)~(1)
3. (A=) (B)=(IlI); (C)=(1V); (D)=(1)
4. (A)(I1); (B)=(IIN); (C)~(1): (D)}-(1V)
Options :

920906102325. 1
920906102326. 2
920906102327. 3
920906102328. 4

Question Number : 82 Question Id : 92090625894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Al & A1y GF—1I BT HaH DI

- -
CIREIEED] (febanfafsn)

(A) | eerargida () | URIHSE ST TaIEE SR 3R,
U4, U. & ¢ BT 3y

(B) | Ifufes s () | gdlas wfed ¥4 & IEH &
H1Y FU= BT AU

(C) | AR EH () | e | grcaeRs & A &
SfERIEA

(D) | gmHTSRA (IV) | EF.G faued &1 sfadeH

12 fau T Al § @ T8t SR &1 997 Difo
1. (A)(I1); (B)-(IV); (C)1); (D))

2. (A1) (B)(IV): (C)=(1); (D))

3. (Al (B)-(); (C)-(IV); (D)(1)

4. (A=(I1); B)=(IIN); (C)-(1): (D)}-(IV)
Options :

920906102325. 1
920906102326. 2
920906102327. 3
920906102328. 4

Question Number : 83 Question Id : 92090625895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Gastrulation in frog begins at a point on the embryo surface
called blastopore.

Reason (R) : Hensen's node is the functional equivalent of the dorsal lip of
the amphibian blastopore.

In the light of the above statements, choose the most appropriate answer from the
options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of

3. (A)is correct but (R) is not correct

4.  (A)is not correct but (R) is correct

Options :

920906102329. 1
920906102330. 2
920906102331. 3
920906102332. 4

Question Number : 83 Question Id : 92090625895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

412 3 FY U T &, T SHHBY (Assertion A) F &Y ¥ foifad 8 df g2R1 396
U] (Reason R]EEF'-TTEI':

HUBYA (A)  : IHUTTRI H Hgdh- YUl B Hag W UF fag ol HRHY Hed o,
R RY AT

SR (R) . BIEA 716 IUTER & SRS & UF 1Y H1 S el ¢
SUYed YAl F 3 H, A1 U e fased # 4 Wt IW &1 99 S
1. (A) 3R (R) I §A 8 3R (R), (A) &1 &l TS B
2. (A) SR (R) 3FT ¥ €, AP (R), (A) P UE! BT el &
3. (A)9dg, O (R) A ©
4. (A) I, AP R) TR



Options :

920906102329. 1
920906102330. 2
920906102331. 3
920906102332. 4

Question Number : 84 Question Id : 92090625896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAT selection media used in monoclonal antibody production consist of

1.  hygromycin, ampicillin and tetracycline

2. hypoxanthine, adenine and thymine

3. hypoxanthine, aminopterin and thymidine

4. hypoxanthine, aminopterin and thyroxine
Options :

920906102333. 1
920906102334. 2
920906102335. 3
920906102336. 4

Question Number : 84 Question Id : 92090625896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Q@:ﬂuuﬁmﬁmﬁawﬂﬁaﬁaﬁa@Hmmmﬂmaﬁa@
bl

1. ERUMERE, weiftfem qur dermsida
2. BIRUNTRE, udiFA aur yrE

3. BISUGHYE, UERRAE qur yraimea

4. RS, GRERE qur ursRiTRe

Options :

920906102333. 1
920906102334. 2
920906102335. 3
920906102336. 4



Question Number : 85 Question Id : 92090625897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : DNA fragments from any source can be cloned into a plasmid.

Reason(R) : A plasmid can be transferred to other cells by gene transfer
mechanism such as transformation and transduction.

In the light of the above statements, choose the most appropriate answer from the
options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

920906102337. 1
920906102338. 2
920906102339. 3
920906102340. 4

Question Number : 85 Question Id : 92090625897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



412 3 $Y 3T I &, U SHHFYA (Assertion A) F T ¥ foifgd 8 1 g1 396
DU (Reason RJEHF'IfII:

MYFYA (A) - ot ot T 8 forw e E1. A, v WSt & wnfers | o fean
S g&dl g

PRI (R) - TS &1 Sl IR0 YUierd] o ¥l 31 UREGHU]
R gER Ifrad1sfl # IR g o gadl g |

Iue HYAI & el 1, A fu 70 fasedi & 3 98t IR &1 994 i
1. (A) 3R (R) GFI 9 € 3R (R), (A) P! Ul RS ©
2. (A) 3R (R) TFT T &, Tl (R), (A) P Tl ARAT T8l &
3. (A)YUAE AP (R AT
4. (A)¥EUE, dldA (R)FA
Options :
920906102337. 1
920906102338 2

920906102339. 3
920906102340. 4

Question Number : 86 Question Id : 92090625898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : DNA is a stable genetic material.
Reason (R) : DNA is double-stranded only.

In the light of the above statements, choose the most appropriate answer from the
options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of
(A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct



Options :

920906102341. 1
920906102342. 2
920906102343. 3
920906102344. 4

Question Number : 86 Question Id : 92090625898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & HyA QU MU §, U 3HUHYA (Assertion A) & w0 H feifad 8 ol gOvT1 39
R (Reason R) FEIH:

it () ¢ S UL QU FRR S e Bl
HRUI (R) . 3l T, U &) Faa fGpsier dxa gt 21
Suge Byl & 31 H, 19 3y e A edl # 9w I &1 99 SO
1. (A) 3R (R) T T § 3IR (R), (A) BT Tl e §
2. (A) 3R (R) T G 8, @b (R), (A) BT UET BT 16T ©
3. (AIIR AP (R IR
4 (A) TR AT R TR
Options :
920906102341. 1
920906102342. 2

920906102343. 3
920906102344. 4

Question Number : 87 Question Id : 92090625899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Activated macrophages are more effective than resting ones in
eliminating pathogens.

Reason (R) : Activated macrophages show increased phagocytic activity and
ability to activate T cells.

In the light of the above statements, choose the most appropriate answer from the
options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of
(A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

920906102345. 1
920906102346. 2
920906102347. 3
920906102348. 4

Question Number : 87 Question Id : 92090625899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 21 oy AU U €, U 3HfUHUA (Assertion A) & w0 H fafed & o ga1 396
R (Reason R]%qul':

AHBYT (A)  : GihT FeHERIY Samv[edl &1 AP B H aRH Haree ¥
3ffe® SERER 81d &1

SR (R) . Wiy FeMEPIY] SHis Hard1Y] g SR &1 HIR®e &1
Tlhd S BT &mal gd §1

SUYed Sl & 3Tt H, 13 3 7 el # 4 |8t IW &1 984 i
1. (A) 3R (R) TFT A 3R (R), (A) &1 U AT B
2. (M) 3R R) THITAE, AMB (R), (A) BT e RSN AT ©
3. (A)HAR AP R) TR
4. (A) WA R, AfFT (R) TAE

Options :

920906102345. 1
920906102346. 2
920906102347. 3
920906102348. 4

Question Number : 88 Question Id : 92090625900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Only a few specific strains of E.coli are routinely used in
recombinant DNA technology.

Reason (R) : E.coli divides rapidly under laboratory conditions than their
native counterparts.

In the light of the above statements, choose the most appropriate answer from the
options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of
(A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

920906102349. 1
920906102350. 2
920906102351. 3
920906102352. 4

Question Number : 88 Question Id : 92090625900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &1 YA AU U €, U S YA (Assertion A) & w0 H fefad & o ga1 396
R (Reason R]a’?qul':

AHUFHYH (A) : Had $& & § Pleng & UHaEl B IuAN FgHa e
gl v, U g | far o g1

PR (R) . Wiplds oRfUfadi & oFud # & Fiard  UOiTRIAl &
ufyRufal # doil & faHTeH S gl

Suge Ul F 3irere H, A1 3 U e # 4 Wt I &1 984 S
(A) 3R (R) THT T & 3R (R), (A) P LI AT &

2. (A)3MR R) T T €, AP (R), (A) BT FE TS TET €

3. (A) A Afp (R) TR

k.

4 (A)UIR AFIR TR

Options :

920906102349. 1
920906102350. 2
920906102351. 3
920906102352. 4

Question Number : 89 Question Id : 92090625901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Four distinctive characteristics of phylum Chordata are
notochord; single, dorsal, tubular nerve cord; pharyngeal
pouches and postanal tail.

Reason (R) : The distinctive characteristics of phylum Chordata remain
unchanged throughout the life of these animals.

In the light of the above statements, choose the most appropriate answer from the
options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of
(A)

3. (A)is correct but (R) is not correct

4.  (A)is not correct but (R) is correct

Options :

920906102353. 1
920906102354. 2
920906102355. 3
920906102356. 4

Question Number : 89 Question Id : 92090625901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 21 oy AU U €, U 3HfUHUA (Assertion A) & w0 H fafed & o ga1 396
R (Reason R]%qul':

IMUFUT (4) . TS @Tee) Y & IR ARy @em § ARWE, wwa
gR-T®], dE®T Io, A6 B SR UG B |

FRUI (R) . Togoh] HY & ATy de&rvr 39 SFaY & Sitad udd 8] seddl
Iuad Syl & 3Mdid H, A9 Gu 7 fasedl T 9 9g) S9R &1 99A DI
1. (A) 3R (R) SHI U § 31R (R), (A) BT Wel aure 8
2. (A) 3R (R) EHT T €, AP (R), (A) BT WEl A TET &
3. (A)UTE AR (R) ST R
4. (A) 39d g, AfA (R) T &
Options :
920906102353. 1
920906102354. 2

920906102355. 3
920906102356. 4

Question Number : 90 Question Id : 92090625902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Archaeopteryx lithographica demonstrates phylogenetic
relatedness between birds and reptiles.

Reason (R) : Archaeopteryx lithographica was approximately the size of a
crow with imprints of feathers, possessed beak-like jaws with
small bony teeth set in sockets and a reptilian skeleton with a
long bony tail.

In the light of the above statements, choose the most appropriate answer from the
options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of
(A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

920906102357. 1
920906102358. 2
920906102359. 3
920906102360. 4

Question Number : 90 Question Id : 92090625902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 € HYA 2T U €, U 3HUHYA (Assertion A) & w0 ¥ feifad € o go1 396
&R (Reason R]%F‘Iﬁ:

AUPY (A)  : HRIBHIPRNGT fereiziteaer aiart SR Tyl & o9 sifdgeiia
Hdy gefar gl

PRI (R) . HRIFHIPRTT feryiFrdT THT ST & PR &1 Ul o
uEl & g, I ol Saer, fored gie sifud gia, nfideT A
R 4 3R GEgU &1 dobrd U qal AU U & |1y AT

Sude Syl & et A, A AU e fased # 3 |t S &1 99 P
1. (A) 3R (R) SHI ¥A § 3R (R), (A) BT WEl ARS8
2. (A) 3R (R) T T E, AP (R), (A) P W AT AL &
3. (A)TAE AP (R) ST T
4. (A) 3T AP (R) TR

Options :

920906102357. 1
920906102358. 2
920906102359. 3
920906102360. 4

Question Number : 91 Question Id : 92090625903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following methods can be used for detecting DNA-protein
interaction?

1.  Southern blotting

2.  In-situ hybridization

3. Chromatin immunoprecipitation

4.  Amplified fragment length polymorphism
Options :

920906102361. 1
920906102362. 2
920906102363. 3
920906102364. 4



Question Number : 91 Question Id : 92090625903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafeRead § 9 $ -3 Yol &1 39GRT 81, U, U UIEH YRR a1 &1 o #31
& foru fopan wran g2

1. Hed sl

2. WM Y

3. wmfed ufaralt sraguu

4. yafifq darg @S &1 agEul

Options :

920906102361. 1
920906102362. 2
920906102363. 3
920906102364. 4

Question Number : 92 Question Id : 92090625904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a PCR, the reaction tubes are incubated first at 94 °C for 3 minutes, at 58 °C for
1 minute and at 72 °C for 2 minutes. What is the sequence of processes happening
inside the tubes containing DNA template, dNTPs and Tag DNA polymerase?

1. Denaturation, elongation, annealing
2. Annealing, denaturation, elongation
3. Denaturation, annealing, elongation
4.

Annealing, elongation, denaturation

Options :

920906102365. 1
920906102366. 2
920906102367 3
920906102368. 4

Question Number : 92 Question Id : 92090625904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

U Ul 3. 3R A 1. U9, U ¢He, dNTPs Ol o S1. U, U UTTeras dareit Sififehan
Aferepraii &) GduuH 94 *C W 3 e & fow, 58 *c W 1 e aqur 72 *c W 2 fiFe
& fom SEATaA faear 9ran g | Aferasrsit # §19 arelt uftharsii &1 Uet hH &1 g7

1. Fifsrae, gOR, daEEie
2. R, Fftsges, /R
3. Fifsrgeo, aoERi, R
4. dHEiEE, TR, Aftsaso

Options :

920906102365. 1
920906102366. 2
920906102367. 3
920906102368. 4

Question Number : 93 Question Id : 92090625905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—| with List—II :

List— List—II
(Scientists) (Contribution)
(A) | Maxam-Gilbert (I) | DNA polymerase isolation
(B) | Stanley Cohen (Il) | DNA sequencing
(C) | Kornberg (I11) | Genetic code
(D) | Har Gobind Khorana (IV) | DNA cloning

Choose the correct answer from the options given below :

1. (Al (By=(I); (CH=(1V): (D)(1)

2. (A-(V): (B)-(IN); (C)-(1): (D))
3. (A B)(I); (C)-(IV); (D))
4. (A B-(IV); (C)(1); (D)=(Il)
Options :

920906102369. 1



920906102370. 2
920906102371. 3
920906102372. 4

Question Number : 93 Question Id : 92090625905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TA—| & 1Y GA—Il H1 faE Sifer

- -l
CEIEED @EF)
(A) | FogH-firead () | St EA. U Uiy guasu
(B) | ®Tdl Pl () | 3w Q. SwH
(C) | BFarf () | 3rais He
(D) | guifelg @A (IV) | 3. 0. U i

e feu T faseui A & Wt I &1 999 Sifeld
1. (A1) B)=(IIN); (C-(IV); (D)=(1)

2. (A-(V): B)=(lI); (C)-(1); (D))
3. (A1) (B)(I); (C)-(IV); (D))
4. (A(I); (B)-(IV); (C)-(1): (D))
Options :

920906102369. 1
920906102370. 2
920906102371. 3
920906102372. 4

Question Number : 94 Question Id : 92090625906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List=II :

List— List-II
(Hormone/Factor) (Role)
(A) | Erythropoietin () | Enhancement of immune
function

(B) | Platelet derived growth factor (I1) | Treatment of infertility

(C) | Chorionic gonadotropin (111) | Stimulate formation of RBCs

(D) | Interleukin (IV) | Stimulate wound healing

Choose the correct answer from the options given below :

1. (A=) (B)=(IV): (C)-(I): (D))

2. (A(IV): (B)=(I1); (C)=(I1); (D)~(1)
3. (A-(IV): B)-(IN); (C)~(1); (D)~(II)
4. (A B)HIV): (C)~(1); (D)~(II)
Options :

920906102373. 1
920906102374. 2
920906102375. 3
920906102376. 4

Question Number : 94 Question Id : 92090625906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GAl—| & 1Y GIl—1l F1 [TdH Sifer

G- -1l

(@I /B R®) (¥{fFrepT)
(A) | efeirafes (1) | ufcRen &l &1 a4
(B) | ufeeamTulshi 9 U faar (1) | &1 1 IY=R

a1 3fg FRS
(C) | SR TSI (1) | AT o o1 & Ao
PIEGETEI

(D) | Seegfe (IV) |91 & 4R T URd HAT

9 feu o fasdi © O 98t I &1 994 SIfo :
1. (A(IN); (B)HIV): (C)y=(11); (D))

2. (A(IV); B)-(I); (C)=(I1); (D))

3. (A(IV); (B)=(I): (C)=(1); (D)-(lI)

4. (A(I); B-(IV); (C)=(1); (D)~(II)
Options :

920906102373. 1
920906102374. 2
920906102375. 3
920906102376. 4

Sub-Section Number : 2
Sub-Section Id : 920906831
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 92090625907 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (95 to 97)

Question Label : Comprehension



Based on the context given below, answer the following questions:

Glycine is most often used as a buffering agent in biochemical experiments. This diprotic
amino acid has a pKa value of 2.4 owing to carboxyl group and 9.6 owing to amino

group. Glycine can exist as a zwitterion which can exist in either protonated form (NH;]
or as a free base (_NHz) because of the reversible reaction :

NH; —CH, —COOH === NH] —CH, —CO00 — NH, —CH, —C00~
Sub questions

Question Number : 95 Question Id : 92090625908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The characteristic pH, at which the net electric charge is zero, achieved at

1. 24
2. 6.0
3 15
4. 986
Options :

920906102377. 1
920906102378. 2
920906102379. 3
920906102380. 4

Question Number : 96 Question Id : 92090625909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In 0.1 M solution of glycine at pH 9.0, what fraction of glycine has its amino group

in —NHg form?

1. 4/5
2. 156
3. 4/6
4. 5/6
Options :

920906102381. 1
920906102382. 2
920906102383. 3
920906102384. 4

Question Number : 97 Question Id : 92090625910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Glycine is highly conserved amino acid because
1. it allows polypeptide chain to make turns
2. it exists as zwitterion
3. its a-carbon is bonded to four different groups
4. itinduces polarity

Options :

920906102385. 1
920906102386. 2
920906102387. 3
920906102388. 4

Question Id : 92090625907 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (95 to 97)
Question Label : Comprehension



TS &1 TR IULN SIaEHd UanT # 3Hg UfcRieA &He & ¥4 | [ S
21 g8 fG-UIdia ofiFl oftd &1 pKa U HTaiaad THg & 81 A 2.4 § 3R i Tgg
& 8F H 96 Bl TWRHH IHTIMAY EA & ¥4 H [GgWH 8 I&d g off IchHug

HPHW%W@[WWFH(NH;]HI@W&H (-NH?]%Euﬁaﬂ]% :
NH; — CH, —COOH === NH} —CH, —C00" — NH, —CH, —CO0"

U offede & SMYR W FAafiEa usl & Iw difon:

Sub questions

Question Number : 95 Question Id : 92090625908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafy pH o W el figgd Sy Y= urd 811 8, 98 &

1. 24
2. 6.0
& B
4. 96
Options :

920906102377. 1
920906102378. 2
920906102379. 3
920906102380. 4

Question Number : 96 Question Id : 92090625909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



0.1 M @13 &1 faaa foras1 pH 9.0 g, 39H T8 iA &1 fdvd= YR s+l Tg
—NH HEUHT?

1. 4/5
2: 15
3. 4/6
4. 5/6
Options :

920906102381. 1
920906102382. 2
920906102383. 3
920906102384. 4

Question Number : 97 Question Id : 92090625910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR U Sifd WRiga oA o § Hife
1. Ug Ulcpiss Sadl & g H Yeddl $dl @
2. UgIHTIGY 39 & ®U H [AeHH el 8
3. TUS -l IR S gl & WY I g g
4. UE Yaurdl &1 URd HIdl g

Options :

920906102385. 1

920906102386. 2

920906102387. 3
920906102388. 4

Sub-Section Number : 3
Sub-Section Id : 920906832
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 92090625911 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (98 to 100)



Question Label : Comprehension

Based on the context given below, answer the following questions:

DNA in eukaryotes is a double-helical structure with two anti-parallel strands intertwined
equidistantly. The double-helical structure was deciphered by James Watson and
Francis Crick on the basis of X-ray diffraction studies. The hydrophilic backbones of
alternating sugar and phosphate groups are on the outside of the helix held together by
phosphodiester bonds. The purine and pyrimidine bases of both the strands are stacked
inside the double helix. Adenine binds with thymine with hydrogen bond and cytosine
binds with guanine with hydrogen bond. The DNA is transcribed into messenger RNA,
ribosomal RNA and transfer RNA. Messenger RNA is translated into protein in the
cytoplasm.

Sub questions

Question Number : 98 Question Id : 92090625912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X-ray diffraction experiment to analyze the structure of DNA was performed by

1. James Watson and Francis Crick

2. Rosalind Franklin and Maurice Wilkins

3. Tom Cech and Sidney Altman

4. Martha Chase and Alfred Hershey
Options :

920906102389. 1
920906102390. 2
920906102391. 3
920906102392. 4

Question Number : 99 Question Id : 92090625913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider a DNA segment :

5-GTAACCTACCG-%
IJ-CATTGGATGGC-¥%

If the RNA polymerase transcribes the segment from left to right, the mRNA
sequence would be

1. 5-CAUUGGAUGGC-¥
2. 5-GUAACCUACCG-%
3. 5-CGGUAGGUUAC-¥%

4. 5-GCCAUCCAAUG-Y¥

Options :

920906102393. 1
920906102394. 2
920906102395. 3
920906102396. 4

Question Number : 100 Question Id : 92090625914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a 1300 (base-pair) DNA, if number of adenine residues are 800, what is the

number of Watson-Crick hydrogen bonds between cytosine and guanine
residues?

1. 500
2. 1000
3. 1500
4. 3000
Options :

920906102397. 1
920906102398. 2
920906102399. 3
920906102400. 4

Question Id : 92090625911 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (98 to 100)



Question Label : Comprehension

T F5! (gHRae) 7 ST U fepsdl 43181 39! &1 §@an] ufd gAHi®R,
Feftid ofR Ud §9F gl W gl 81 gl Ia1 &1 F9A1 OR aiesd SR iy
®IH 4 TaH- Fadq s & YR W a7 Sernft sTyR IH-Hiehe &1 941 81dl &
g &R HicR 1 3R uadt €rar 81 ST JEal BREISEER el 3 9§31 edl ¢ fapsdi
H o ¢k fOdfEH td &R g 3 908 W 0@ & W U@ yd gia §1 TS,
gISSIoM §Y GRT UISMHA ¥ gRid gl § SR WISCIRF, TaFH & A1y g13g o ot gRI
YT G 81 S1.UAY, P 3IeREH, g SMR.UA.Y, USERHT SR, 3R 3fcRUI R TAY,
T g1 81 §d SR .UA.U &1 T SIS 567 T Ui # grar g

I e & YR R Fufiiad uyl & 3w difve

Sub questions

Question Number : 98 Question Id : 92090625912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIuA.N B EXaH 31 fazawu S & fore vas-X FHad wanT fads gri fasar wan
1. o 9regd SR Wiy @is
2. uifds el ok ARy fafes=g
3. WP IR s sifeedA
4. A IY 3R (ApS g

Options :

920906102389. 1
920906102390. 2
920906102391. 3
920906102392. 4

Question Number : 99 Question Id : 92090625913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dd RumudleAn E@3:

5—GTAACCTACCG-3
I—CATTGGATGGC-5

& T W 3 SR TA.U. UTferr 39 Ee &1 91U ¥ 318 SR ¥l &3l g, ot gd
SRUAU (MRNA) BT 3hH g -

i. 5—CAUUGGAUGGC-¥
2. 5%—GUAACCUACCG-3
3. 5—CGGUAGGUUAC-3
4.

5 —GCCAUCCAAUG-¥

Options :

920906102393. 1
920906102394. 2
920906102395. 3
920906102396. 4

Question Number : 100 Question Id : 92090625914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe fdl 1300 &R gW® S1UA.L T USHH &1 §A1 800 €, ol |ifAA
3R WIZEIHHA & did d1eq-51d gi3glor Siadl o1 foba-il dem grfiz

1. 500

2. 1000

3. 1500

4. 3000
Options :

920906102397. 1
920906102398. 2
920906102399. 3
920906102400. 4



